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What are the simplifrffiqfits and assumptions made in Fast Decoupled Load Flow method?

,es (06 Marks)
Explain how the vdltage profile is controlled by synchronous generators and VAR
generators. ,;*l,ffi, (07 Marks)
Derive the Ja(hbiah matrix elements equations from the load flow equations. (07 Marks)

":\ (07 Marks)
Mo.dW

for NR mW of load flow analysis of power system having
(08 Marks)

(il)
b. Write the algorithm of Gauss-Si

and (n-l) number of PQ
c. The positive sequence

node-G as the refl
m pu are

Form Yeus by

(07 Marks)

*\-{ .}

) Co-tg&ffi (05 Marks)
sot*tiWr a power sy&.em with a slack bus

it
ffi . .l .?dd, "".

+ ;*e '"1" \
gir$rre the network sttffiin Fig. Q2 (c). Take
gir1g}trdr trans format ion#

"\
Find the Yors bv direct i$sEwtion method for a svstdfffiSffiit

Element No. W I 2B .+3
Bus code (i - k) d& 'dY t-2 2-& 3-l
Line impedence'f,CIu i0.04 *imm2 i0.0s
Half- line chareingadmittance (ou) i0.04 J0.01 i0.04

lNewton mg1ffig! for load flow solution. (06 Marks)
n Raphsofuftud Fast decoupled load flow methods with different

,,sr (06 Marks)
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Module-3

fuel cost curve.

n losses.

r7EE7l

(06 Marks)
(09 Marks)
(05 Marks)

5a.

b.
c.

Explain the following terms in the optimal operation of
(i)input Output curve (ii) Heat rate curve (iit) J
Explain the optimal generation scheduling cons

What are the needs and importance of unit com
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a. Explainttr$hptimat power flow so\rtiod without inequality constraints. (08 Marks)

b. Exfrt4iTfu sohtion technique for$@#othermal schedulgqproblem- (07 Marks)

c. grfu&h#xblain the functions ofr$!#em security analysis.% (05 Marks)

7 a. Explainffi.ptimal power flow solptiod without inequality constraints. (08 Marks)

mfg a. State the mathematic-@rmulation of hy@hbrmal systemt.-ffiith assumptions and

constraints i;@*" n*g 
s w'* d - (10 Marks)constrarnts. u+WT' x",i* _ ffi d trv rtr4rn!,'

b. Explain the loss of logd ffioUaUitity *.; ffi d( (04 Marks)

c. what are the tngffiliff;;il"i"rr;r_rr&#i,ariables l" 
?ffiW 

power flow? (06 Marks)

*'i..** ,%e*.. ^*.{' ,'fu }r '!ffi/-S. , * '*

g a. Explain the algorithm for shorqcircBtfstudies of an*fus systern (10 Marks)

b. foi tngi*l*vei system shoumfr$&Fig. Q9 (b) thqk#@tances are given in p,r. A solid three

phasffitilt occurs on bus-foQpiitate 111 Fault ciiir+Jnt (ii) all bus voltages
-(iii) 

%11h current in ttrgffi.- , * 
, (10 Marks)

'"'
6 a. With the assumptions made, derive qt#-*formula of transmisqle* loss and hence

B- coefficients foia two-plants systemffi Y kffi** (08 Marks)

b. With random unit performance iecgpd3dain the probability of a urtit being in up or down

states for system reliubility. #% --:)" 
- (05 Marks)

c. A constant load of 30o MIffiiffi#ubphed by trvo z0Affi generators for which the

incremental tuel costs ,.' ffi 0' no, + 20 and ffi = 

ffi"Po, + 15

.',,t*ms-tt*=,Determine: 'ire;' * 1-

: most..offil*%l division of load bedubei{ the generators

iirl The savirl.&iafts.laay there by ob$ingi &mpared to equal load sharing between

*u.t inm]\ ,;fo*- (07 Marks)

"; t* M"M;-4

fuf= ,eW' fr -.-xoT; o4f t*_4u*' 
"pm;:i o'ds;5* 

- \ -7 a'05 o'22- o'os#k \
CL"\ ;

#=' oR-:10 a. Explain with relevant @ihms, the point by point method of solving the swing equation.
(10 Marks)

b. Derive the generALize'%lgorithm for finding the elements of Zsus when a branch is,

(1) Ad{ed.ltibtween an old bus and reference bus

(ir) AffiSetween two old buses. (10 Marks)
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